Quiz 8

Name: Student Number:

CALCULATORS ALLOWED.

1. (2 marks) An astronomer observes an asteroid striking the moon. Calculate how long it
takes before the explosion be heard on the Earth? Earth Moon Distance = 3.8 x 10° km

E&/V/KZ v Hoon <z ’/ﬂ'/hﬂ/é:«f‘/ %/ \L Tl
&/ ,/ 4?/0/ a VM Z{L-’&/m,/,;ax/b/ AL ('}-’ﬁf-M\_/‘
La <

2. (4 marks) Consider the wave y = A sin (kz + ot). Find the values of k and o if:
a) Wave travel sin +z direction.
b) Frequency is 6 Hz.
¢) Speed of wave is 2 m/sec.
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3. (4 marks) Derive an expression for the distance between 2 neighbouring dark interference
fringes observed on a screen for a wave incident on a double slit.
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